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fEriH A 1,800 1,250 22,500 1,600 14.1
RALT Y 800 700 5,600 1,600 3.5
AR 2,600 700 3,640 1,600 2.3
&t 1 f4REERO3=19.8

LR MR ©213 M(ETRO1+ K RO2 +RHERO3)

(D) 1 44 & h &
(1) HHHNR
(G AR
IVME TI2F v 78l
7 ) Hififi 280 [
)Tt AR 8 4F
(FH7%)
TR E AR O 35.0 M=280 (5 i) /8 4F (i I 4E 50
(2) 1HMRREM
(G HI L)

21

AVEAE 1.8m % 50m(0.05mm) X2
o) MAFE 2 4F

o) Hififi 118 [1(1.8m X 1.0m)

(B HE)

1R EME @2 3.7

=118 [ M) x 50m(fHFE) x 2+ 2 4E (it F4E%) + 1,600 44 (

(F R0
LY EME O 38.7 M(FHMANR+PRILEME)

(E) 1484/ és B i 2
(B HEEBRE) 25 i 2 I 37> i1

HHIAEK)

iES RERE fiffi b T FF A2 fEHIE
L e 200 ¢ 14,000 X 2 5 5,600
MR
Ce ot 5m X 5m 5,500 X 2 2 5,500
HEKF A+ — = 30m 3,700 X 2 3 2,467
HEAKF 2 R v 1 1 2,500 % 2 3 1,667
WKy a—n 100 H 2,500 % 2 3 1,667
it 16,900
(7

1M NSRRI ©10.6 F1=16,900 1 (EHIZED) +1,600 45 (BHHAEE)

(F)1 #6245 B i ax {8 21 2
()
A A Ty
) [fifE 300 ni (1,600 FHINA 3.3 mi 18 4f)
)it AR5 4R




=)3.3 mi H4ffit% 6,000

(BT
- 1 M E s EAE ©68.0 M

=1,818 M (m H4fiffi#%) x 300 i ([HIFE) + 5 4F(MHEH) + 1,600 56 (B HIFHED
(G)1 5624 57 fh

(R LRE)

A)1 A4 5@ 10,500 (8 H#5518)

7)10 7 — A M BEEEC 20 FH

210 7 — Y S B RERE 5 IRERE

(E 7
-1 EE S ©328 1

=10,500 H (1 H Y4578 4) 8 W X 5 BRI (10 7 — /v 24 F7 i)

+20 F(10 7 — A4 ARG R

()10 7 — (20 58) LI IR ENE . RRIERIRIL — B AR EEERIC X - 72,

(D)1 724 15 5 i P o0 Al S48
(R HLE)
WD 5% EEH T %,
(RHT7%)
1R 5B fa b o REA N SFEARE38 =768 M (KeHEHE) X 5%

LA SIEET RS 810 [1]

=0+®+0+0+E+®+G+® (1 HY% & 10,500 Mosa
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4. FEER

(1) 471 5 45 P RS TER 6 0 B (55 1 )

= x AN = h + A B OO O®
FE B HEH 1y 2R B 1y B4 1l yazd i 5 & ENiE S|

A | ISMERSIUE (M) %5 1,205 1,250 1,228 1,013 950 981 1,025 925 1,000 983 1,100 1,026 1,063
M | IHEYReRILAE (M) 44 1,222 1,125 1,250 1,199 975 881 928 992 925 1,000 972 1,100 984 1,054
Bl £ & = (%) 45/44 A 1.4 0.0 2.4 3.8 7.8 5.7 3.3 0.0 0.0 1.1 0.0 4.3 0.9
SRS 45 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0

IBELIRESTIE () 45 1,075 1,000 1,091 1,055 1,013 1,008 1,010 1,019 1,029 1,023 1,024 1,025 1,119 1,072
- IR RIS IEE (F) %4 1,034 1,125 999 1,053 932 975 954 988 1,013 1,003 1,001 1,013 1,079 1,046
; £ 72 £ (% 45/44 40 A11.1 9.2 0.3 8.6 3.4 6.0 3.1 1.6 2.0 2.2 1.2 3.7 2.5

5 & B M 455 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0
m | INFSREE (M) 45 1,006 950 978 988 988 988 1,021 1,005
B | IBMNREIHE () 44 1,028 989 1,009 856 856 991 991
7 K (%) 45/44 N2.2 AN40| A3 15.4 15.4 3.0 1.4
Bl % @ » @m0 %5 8.0 8.0 8.0 8.0 8.0 8.0 8.0 8.0
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(2) 40 6 S EEHEE BB FH (R 2 %)

RE NE h+hE Sl
TE B e 5 = =8 15 R&E L 40} T3 EHE ENfE T3
SHSEELIRHSReXIE () 1,205 1,250 1,228 1,013 950 981 1,025 925 1,000 983 1,100 1,026 1,063
KHE | EFE (HaTE3» EFH) (%) AN 0.1 11.8 5.9 000 A22 ALl A04 0.0 0.00 AO01 0.0 2.2 4.2
B2 | SM6EELIRFMUHEERE (M) 1,204 1,398 1,300 1,013 929 970 1,021 925 1,000 980 1,100 1,048 1,107
SH6EEHTERS (9B (A) | 10,840 12,580 11,710 9,110 8,370 8,740 9,190 8,330 9,000 8,840 9,900 9,440 9,970
SHSEE IR LIRS E (M) 1,075 1,000 1,091 1,055 1,013 1,008 1,010 1,019 1,029 1,023 1,024 1,025 1,119 1,072
ME | ERE (HaTE3» EFH) (%) A 1.4 2.0 2.2 1.0 0.8 0.3 0.5 2.0 2.4 2.2 2.1 2.1 1.6] A1l
X | sHeEEIBHL#HERE (F) 1,060 1,020 1,115 1,060 1,020 1,012 1,020 1,039 1,053 1,046 1,050 1,047 1,137 1,090
SHCEEHTERE (R (F) 9,540 9,180| 10,030 9,580 9,180 9,110 9,150 9,350 9,480 9,410 9,410 9,420 10,230 9,830
SHSEE IR YRS IE (M) 1,006 950 978 988 988 988 1,021 1,005
R | EFER (HEIE3» EFH) (%) A 15 2.1 1.3 .00 A34 A 3.4 0.0 1.2 1.2
N | SAeEELIRFMUHEERE (M) 991 962 980 954 954 988 1,034 1,017
SH6EEHTEREe Ok (M) 8,910 8,660 8,790 8,590 8,590 8,890 9,300 9,150
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(3) AN 6 4 ELRER R (5 3 %)

(HA7 = )

RE NE Athe HTH
T BE REH ) ZE =kE T RE i pizi 0] T HH ENFE 15
" 4 f1 5 E & # % £ (1) 10,000{ 10,000/ 10,000{ 10,000[ 83100  8,100[ 82100 8800/ 8,800 8800 8800 9,900 9,900 9,900
m|IS M 6 £ E # & & £ (2 10840 12,580 11,710f 9,110 8370 8740 9,190 8330 9,000 8840| 9,900 9,440 9,970
Bl x EER (T ME3» &F#)Q) 9,990/ 10,000[ 11,180 10,390f  8,100[ 7,930 8,020 8,760 8800/ 8800/ 8790 9,900/ 10,120 10,010
- ( @ + @ + 3 ) =<3 1028 10,000 11,250 10,700 8,440 8,130 8,290 8,920 8,640 8,870 8,810 9,900 9,820 9,960
4 M 5 E £ # ® £ O 9,400 9,400  9,400|  9,400| 8,100/  8100{ 8,100 8500, 8500 8500 8500 8200 9,000 8600
Bl moe s E#xn 2 @ 9,540 9,180 10,030 9,580| 9,180  9,110{ 9,150 9,350  9,480| 9,410 9,410  9,420| 10,230 9,830
; D x ERE(HEE3I» £F15)03) 9,270 9,580 9,600 9,480| 8,160 8130 8,150 8670 8700 8,690 8690 8370 9,140 8,760
c o + @ + B ) =3 9,400 9,390 9,680 9,490 8,480 8,450 8,470 8,840 8,890 8,870 8,870 8,660 9,460 9,060
o 4 M 5 E £ # ® £ O 9,000 9,000 9,000 9,000f 7,900, 7,900 7,900 7,900, 7,900 7,900  7,900f 7,900 8300/ 83100
Bl M6 & E # & B £ (2 8,910 8,660 8,790 8590 8,590 8,890 9,300 9,150
Bl x @R (HETE3» &F15)03) 8,870 9,190 9,120 9,060 7,640 7,900 7,770] 7,900, 7,900 7,900  7,900f 7,900 8,400/ 8150
= c o + @ + B ) =3 8,930 9,100 8,930 8,950 8,040 7,900 8,090 7,900 7,900 7,900 7,900 7,900 8,670 8,470
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52 &N

(D05 K M EEZR RS

—fEANRRK— (4 K)

B HEEH S HRABN | XER A

, , s S i 7 L

wprE | B | KhE (av | N

s i (60kg )

HE T A) ENE

F E| 777 19 | 855 19 13,233 6,433 7,000 8,433 18,233] 42,053 2,867

N Z 2| 8356 20 | 845 20 14,000 6,333 7,067 7,600 20,440 40,546 2,453
=
3

el 853 19 | 833 12 15,000 5,188 9,500 7,313 20,333| 45,544 3,860

oy 821 19 | 844 17 14,078 5,985 7,856 7,782 19,669 42,714 3,060

=z B| 177 19 | 950 19 18,675 7,033 7,900 7,800 18,650 36,840 2,430
4

= = 8| 661 22 | 882 22 11,700 6,467 7,175 7,625 17,700 42,949 2,975

FoH| 719 20 ] 916 20 15,188 6,750 7,538 7,713 18,175 39,895 2,703

£ 4| 585 19 | 849 20 12,680 6,257 6,414 7,917 17,729] 39,258 2,729

HLE | 770 20| 780 20 13,150 6,483 6,700 8,260 18,240 41,900 3,000
5

] B M| 715 20 | 720 20 6,067 6,367 7,600 17,900] 39,433 2,800

ol 690 20| 783 20 12,915 6,269 6,494 7,926 17,956| 40,197 2,843

& HB| 780 17| 735 21 19,600 9,500 6,400 7,550 18,300| 45,043 3,000
5

T|ED 5E| 838 19 | 867 20 12,667 6,100 6,825 8,150 18,563 42,169 2,957
%

F | 809 18 | 801 20 14,400 7,233 6,683 7,950 18,491 42,953 2,970

X BHIZ 1YY oBMiE 10a ICHELFERTH 5,
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LHFEDZRERE (5 5 K)

(10a 4:F9)

H g

'] AN B R £ EEB LR
mREAA | ERER | FREAA | EFEMR
+ ¥ 79,600 68,700 77,900 70,200
o £ # 91,044 77,050
\ﬂ/
S .
Bl 90,162 78,216 92,000 61,000
oo 86,935 74,655 84,950 65,600
Z B 80,000 60,000 61,500 55,500
NE | R OB
15 80,000 60,000 61,500 55,500
k &£ 76,800 61,625 76,800 60,200
TR 79,400 83,220
NTHE
i
o 76,800 70,513 76,800 71,710
H W 69,650 69,650
BT | B0 1% 79,000 67,000 67,958
T 15 79,000 68,325 68,304

PR & ~ Wi B FE £ T D3,
B &R, PRELALL IERL RERoZ L THh B,
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(3) EHEIFHERGE 6 )

28

1 HYSY:M)
EEHEES EENERES
AT kB AT SRR %
=] @ =] E°4
F | 8,568 8,568
|E | 7,948 7,948| 15,693| 15,693| 27,500| 29,100 18,953 9,296 9,296
A
E
HEEE6| 8,481 8,401| 16,255| 14,687| 23,376| 24,736| 18,261| 20,232
E Y 8,332 8,305| 15,974| 15,190 25,438 26,918 18,607 14,764| 9,296
% E| 8,206 8,206| 13,792| 13,792 27,500 29,100| 18,050| 17,300 26,200
24N
mm | 8,163 8,163 9,719 9,719| 22,750 22,550| 14,000
oty 8,185 8,185| 11,755| 11,755| 25,125| 25,825| 16,025 17,300| 26,200
£ 4 8,468 8,638| 12,000{ 12,000
N .
+E | 8,193 8,193 15,000| 15,000 15,000
.
%Vm [ 8,236 8,206 13,998| 13,065| 27,500| 29,100 22,600
o 8,299 8,346| 12,999| 12,533| 21,250| 22,050| 18,800
& H| 8,108 8,108 14,000| 12,000
)
TN #E| 8,224 8,224| 15,0001 15,000 20,227 21,541| 16,580 11,375| 11,375
oy 8,166 8,166| 14,500 13,500 =20,227| 21,541| 16,580| 11,375 11,375

XERIRFE B & 3R A OB KIEHWERRIEREED 30 FHikO &S



(4) FEREESZ Do BHGE 7R)

(1 H:M)
KEEZE MH1EZE REUINEE=E
T = 890 640 280
= & = 1,000
| wmEn 500 500 500
T 695 713 390
% =B 390
22
_| B &
=
o 390
4 1,000 1,000
= =
+| b =K
Nl s ® 500 750
]
o 750 875
=| & I 750 833
T| g ke
w2 750 833
i #
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(1) REFHESIE, A5 EEEENELCET2MWED [2oftoBH ] HooEiHERTdH 5,
(2) TzofoBER] &3, EREROBICIHESTIEDC LS T23ERTHY. BF - NEFD
HEEFAE, SR X p kg, HERSEOAEHETH B,



